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The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.




HAT-3 1 SECTION-A
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Name the pigment which transports oxygen and carbondioxide in human body.

2 ferea wftag § = awgd &2 ' 1

What is meant by an electric circuit?

3 T 1 EH H AT Y SHEvEe 0 1 A W@ ¥ R a1 9 =gAqn 3 fee g i 2 1
fafaw)

Write the minimum wind speed to maintain the required motion of the turbine in a wind
energy farm.

4 ARl TemEts fifEe W RER iR 2
x+ 51 — AT §A1 571
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(b) 7§ R & vEEtE v fafae)

- Consider the following chemical reaction :
x+ Water — Slaked lime
‘{a)  Write the chemical name of 'x' and the type of reaction that occurs.

(b) Write chemical equation of the reaction.

5 A < R v T age o o vee/ae fafe 2
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Write one word/ term for each of the following alloys :

(i) In which one of the metals present is mercury.

(i) ~ Which has a low melting point and is used in joining metals for electrical work?
(iii) ~ Which is used for making utensils and decoration articles?

(iv)  Which is used for making medals and statues?

6 T S (ot B S A gfg TR A W @ ot e A faee e fF 9w uw e @1 e ¥ s 2
21 o g sm ufy A e N e R e e e T A T

A boy was not able to gain height. The doctor diagnosed that it is due to deficiency of a
hormone. Name the hormone and the gland which secretes this hormone. Which disease is
he suffering from?

7 A sfufwEeed § vl sifufen w ver weet 3
(i) Zn+H,50, - ZnS0O4 + H,
(ii) CaO+ ﬁzo - Ca(OH),
(i) CaCO3 ——=— CaO+CO,
Identify the type of reactions in each of the following reactions :
(i) Zn+H,50,4 - ZnSO,4 + H,
(i)  CaO+H,0 - Ca(OH),

(i)  CaCO; —2 , CaO+ QO,
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Write the chemical name and formula of bleaching powder. How is it prepared ? Write the
chemical equation and state any two uses of bleaching powder.

fo= rofufimansiiss fod @ waferares = fufe- - 3
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Write chemical equations for the following reactions :

)] a piece of calcium metal is dropped in water.

(i) steam is passed over red hot iron.

(iii) Zinc sulphide is heated in air.

(a) mamﬁ%%wﬁm@m_mﬁﬁﬁmmwﬁm 3
(b) 3T TALHT AT TSR | T WHTHE T SRR Tohe gaw | warsn awar d ?

(a) State the role of hydrochloric acid present in our stomach in digestion.

(b) Define acidity. How can its effect be neutralized ?

vy i 1 R ffae ) wre A varw w3/ ety £ g | 3

Define breathing. Explain the mechanism of breathing in human beings.

TreRd & Wi wifteel &t st fFa yor sRafa 2t €2 3

Explain how do muscle cells change their shape 7
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How does the plant shoot bends, when the plant is placed in a room having only one open
window ? Explain briefly.

14 12 O vy & foFelt =ore | 5 Ui 99t uRi2 e 9% vorfed o4t et §) So9=1 SO & uE 3
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A current of 5 amperes is passed through a conductor of 12 ohms for 2 minutes. Calculate the
amount of heat produced.

15 fordlt 99y Oew F Wi AR ¥ Rl fag W e ey it yeea ¥ 7= sfedada g 3
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How will the strength of magnetic field at a point around a current carrying conductor
change, when the -

(i) current in the conductor is increased ?
(if)  direction of current is reversed ?

(ili)  distance of the point is increased ?

16 e foga oRkedl ¥ sar = ¥ w6 €7 fagn v, fage de 3 faga wfsl, S s 3
uiferes B €, %1 = ol savass i 2 T w A

What is the function of an earth wire in a domestic circuit ? Why is it essential to earth the
metallic body of electrical appliances such as electric iron or electric toaster ? Explain.
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Shreya went to her friend Pallavi’s house. There she saw a solar cooker kept in the courtyard
with rice and dal kept in it for cooking. When Shreya asked Pallavi about the cooker, she told
her that her mother uses solar cooker everyday for cooking, especially during summer and
explained her the advantages of using it. Shreya went home and persuaded her mother too to
use solar cooker.

(@)  Listtwo advantages of using a solar cooker which convinced shreya.

(b)  Mention the values displayed by Pallavi's mother.

18 v iR ST = Aot wel # e wife | e % < se o i) 3
Differentiate between renewable and non-renewable sources of energy. Give two examples of
each.

19 fF 3% fag wro ffE 5

() e, fiw s w1 fE § srreed s ROgwa ¢ afnd Hieagn sifaase w1 Hiwwa §
T |
() @ o Yt % ar s fage deRe F wgE wn E $

i) o Rl A e w awE & 7 e g e
(iv) 8 % TeR Il % ITE TR of & @ ¥
(v) Wi e aner Yo s )

Give reasons for the following :

(i) Carbon can reduce zinc oxide to zinc but not calcium oxide to calcium.
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(ii) -Copper and aluminium wires are usually used for electricity transmission.
(iii)  Alloys are used in electrical heating devices rather than pure metals.

(iv)  Gold ornaments look new even after several years of use.

(v)  Aniron grill should be painted frequently.

@)  aF ® i fafew ) e {3y e o @ geet & T fafe 5

(b) Ofeam siFEs 1 W@ A Sfufen F f dgfem Teate sHw faf @g) Tt forerer
# wiTer & # qen el vz Bt W 41 wRad e @2

() @ difeaw gl T fierm 0 wegeeie & @ ¥ sfufe w0 @ dm g2 W
YRR 1 ATTRAT 1 1 FET S § 2

(a) Define indicator. Name two indicators obtained from plants.

'ﬂ) Write balanced chemical equation for the reaction that takes place when sodium oxide
reacts with water. How will this solution behave towards phenolphthalein and red litmus

paper ?
()  State what happen when sodium hydroxide solution reacts with dilute hydrochloric
acid. What is this reaction called ?

(@) e g W SR aen ¥ A T e e O @ 9 g3 g4l § o\ WS
e form Toelt ae W 3 =g e &1 v fean fafy 9 wwwEd

(b)  STEem 3R v Tgraas § el ohaed SR oA o wfE) o

| (a) ‘The upward movement of water normally requires a pump in our houses but in tall

trees water rises up without any external support. Explain this mechanism.

(b)  State three points of difference between the transport of materials in xylem and
phloem tissues.
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' What is meant by resistance of a conductor ? Name and define its SI unit. List the factors on
which the resistance of a conductor depends. How is the resistance of a wire affected if -

(i) its length is doubled,

| (ii) its radius is doubled ?

23 () oI@ H GeFd @ 9% U % e uw B # e § 9ol Fife fE i e s
#1 svan ferdt Foeeh # fage u Meaws 1% fag st awa & 1 3T uw =t fam & fFraifer
HT 19 Fram i IeerE i)
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(b)  Foeeh B F fogd urr i waerm § wftedT fiean s g2

(1) With the help of a diagram describe in brief an activity to show how a moving
magnet may be used to induce an electric current in a coil. State the rule to find the direction
of induced current.

(i) A coil ‘A’ of insulated copper wire is connected to a galvanometer. What would you
observe when :

(a) a current carrying coil ‘B’ is brought near to ‘A"?

(b)  the strength of current in coil ‘B’ is changed? Wl

24 (a) foregd v =1 wfewmn fafee | so wre fofiag i & T P=v X1 g3 @A FifQ - 5
(b))  Free afRy s B T 50 W T es 319 25 W T S et fae T2

(a) Define electric power. State its unit. Also derive formula of power P=V XxI
(b)  Which will have higher resistance: & E(')__X\L lamp bulb or a 25 W lamp bulb and by how
many times? g op N
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(i) oo % T ®t wEAfeEl W A, B, C AU D ST |
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 While performing an experiment to determine the pH of the sample solutions given to a student,
he/she adopted the following steps of procedure to get the correct result :

(i) Cut small pieces of pH paper and placed them on a glazed tiles.
(ii) Mark the test tubes containing sample solutions as A, B, Cand D.
(i)  Observe the colour produced and match it with the coloured chart.

(iv)  Putone drop of each sample on the pH paper with the help of a dropper. \ '

The correct sequence of the steps of the procedure would be : |
(@ (i), (@), (i), (iv) (b) (i), (i), (i), (iv)
(€ (i), i), (v), Gii) (d)  (iv), (i), (i), ()

26 vEETEn ¥ WA w0 wHd faee % e 3 ik fra e el & fafim e e A fu g iR 1

T T T pH AH T F R 9 - -
WIRA: B A pH TR W ¥ Mg T faera o g
TIEB: gl A &2 g T faeras 1w fEw SR pH AWM A IW W@l F He F I
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While doing the experiment in the laboratory, the science teacher observed that different
groups of students were testing, pH of the given sample solutions by using pH paper in the
following manner :

GroupA:  Students dipped the pH paper in the sample solutions.

Group B : Students heated the sample solutions and brought pH  paper near the
mouth of test-tube.

GroupC:  Students used dropper to put a drop on the pH paper placed on a \white ﬁ
tile.

Group D: Students poured solution on the pH paper.

- The most appropriate manner was followed by the students of group :

@ A (b B © € (@ D

27 7 NaOH faeram iR 3 difeas Fee - - | : ' 1
@  ¥FFE T w W e At w ¥ 1
(b)  wga - R s E
(¢  siffiear & %@ B ’

(d)  die & sAfufmar s ¥

Dilute NaOH solution and solid sodium carbonate :
(@)  reactonly on heating (b)  react very slowly

() do not react (d)  reactvigorously
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ZnSO4*:

Fe

@ ADC ® BC () BD (d BA

Iron filings are added in four test tubes containing  (A) ZnSOy (B) CuSO,
(C) FeSO; and (D) ALy(SOs); as shown below. The test tube in which reaction will not occur are

I

-------

ZnSO+F: CuSO iz
Fe . Fe
A
@°® AD,C () BC () BD (d BA

29 ﬁmﬁwﬁ‘fﬁ'ZnafrFésm%ﬁw:?fa?ﬁm%awwmmaﬁﬁW| ITF 1
ey i fRw e &) S9 e 9 et R gt der w@ ¥
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(b) | TEE &H T FTeT
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Students in a laboratory were assigned an experiment to study the reaction of Zn with FeSO,
solution. Their observations are given below. Identify the set where all the observations are
correct.

Observation Table -

Set | Initial colour | Final colour | Deposits if

of solution | of solution | any.

(a) | Colourless | Colourless | Red

(b) | Colourless | Pale green | Black

(c), | Pale green | Colourless | Black

(d) | Pale green Red Black
30 9 U ity @ gvian T g

44) 4V

—

—
K\/ 50
38 ufRtgy | yarfea faga uw et -
(a) %A (b) %A © 1A (d 6A

A circuit diagram is shown below.

44 4V L
—— | f————y )
+
/ ¢ [ ]
— (T
K 20 e o

The electric current flowing in the circuit will be :
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(d) TR T AT WS HH e ®

When parallel resistors are of three different values, the potential difference across its
terminals is:- '

(a)  greatest across smallest resistance

(b)  greatestacross largest resistance

(c)«+ equal across each resitance.
(d)  least across the smallest resistance

32 'ﬁﬁmﬁﬁﬁmﬁzﬁmﬁr@mﬁﬁs: 1
(a) TR TEHA 3 FOM
() T TR =
() @B~
(d) T W 7F ST @ 5 T g6 I v ¥ g deE v

' If a plant is kept in a room with green light, it will :
(@) Respire forever
(b) Photosynthesis
o . DHe

- (d)- Live for sometime till it has food to respire

33 j"mﬂ%ﬁmcozwfshzﬁr%'wﬁ%ﬁﬁ,ﬁqﬁﬂﬁzﬁaﬁﬁmﬁmﬁqﬁ%ﬁmﬁa: 1
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'To demonstrate that CO; is released during respiration’, one must take care to see that the
seeds are :

@ Dry
(b)  Well soaked in KOH
()  Wetand germinated

(d  Boiled

38 HTR Go%e ¥ oy faaad § SR 9 S 2wl w4l | oy 10 e ¥ wveE 9% Sam e 2
T faerm =1 e T oftafda & =0 § 91 i #1 Siem | K wd =g T R ﬁmm%mﬁgq
UfEda a1 |R 1 Sie T =el I 1 H Ieerd HHe |

Iron filings were added to an aqueous solution of copper sulphate. After ten minutes, it was
observed that the blue colour of the solution has changed and there is a coat on the iron
filings. State the change in colour observed in the solution and also colour of the coat formed

on the iron filings.

35 el wirlver & fodl & <= favaim (v) & fafms et & fo oed waifea foege ursdi 1 & 9@ 2
o g g €

lﬁ«ﬁim(v)(éraﬁ): 25 50 |10.0 [150 [20.0 |25.0

forgra wm () (W= RRA: | 0.1 02 | 04 |06 08 | 1.0

(i) Va9 &= A @i |
() Wi F1 i it st

The values of potential difference (V) applied across a resistor and corresponding values of
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current I are given below :

Potential difference (V)| 2.5 50 |100 (150 [200 [25.0
in volts : ~/
| Electric current (I) in | 0.1 02 | 04 |06 08 |10
Ampere : AN

(i) Plot graph between V and 1.

(i)  Calculate the resistance of resisto

36 WA T i qo ST e w1 e % w10 x) gETRRt & A stEeited fea S A 2
T JEoil #1 Refe TR #Hifag)

Record your observations when a stained and mounted leaf peel is viewed by you under low
power (10 X ) microscope. '
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